Model Set —|

Time — 90 minutes

Full Marks -35

Biology (Botany) Pass Marks —11%

Candidates are required to give their answer in
their own words as far as possible.
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Figures in the margine indicate full marks.
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All questions are compulsory
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General instructions:
Q. Nos. 1 to 10 are Multiple Choice /Objective Type each of 1 mark.
Q. Nos. 11 to 13 are very Short Answer(VSA) Type each of 2 marks.
Q Nos. 14 to 16 are Short answer Type each of 3 marks.
Q Nos. 17 to 18 are Long Answer Type each of 5 marks.
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1.

2. The growth phase of an organism before attaining sexual maturity is

3.

Group-A/@e—3

Which of the following cannot serve as vegetative propagule ?

(a) A piece of potato tuber with eyes.

(b) A middle piece of sugarcane internode.
(c) A piece of ginger rhizome.
(d) A marginal piece of Bryophyllum.
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referred as

(a) Juvenile phase

(c)

(b) Vegetative phase

Both (a) and (b) (d) None of these
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(a) fouRmEwen (b) T YT

(© () w (b) 3 (d) ¥ & P T
The filiform apparatus is present in—

(a) synergids (b) egg cell

(c) antipodals (d) secondary nucleus
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4. Genes which code for a pair of contrasting traits are known as-

(a) dominant gene (b) allele

(c) linked genes (d) none of these
S o R o @ Rt et @ R e wRa E-
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(c) wEerd ofH (d) s & 31 7=

5. which of the following will result when plant YyRr is self pollinated

(a) 9:3:3:1 ratio of phenotypes only  (b) 9:3:3:1 ratio of genotypes o

(c) 1:1:1:1 ratio of phenotypes only  (d) 1:1:1:1 ratio genotypes only
Ife YyRr & WuRIfid fvar S af g7 | @19 |1 GRom e ?

(@) 9:3:3:1 U A% 328 vy &1 (b) 9:3:3:1 srgur % ST g
(b) 1:1:1:1 sque % g wwa & (c) 1:1:1:1 o Ry i oY

6. Chromosomal theory of Inheritance was given by —

(a) Morgan (b) Sutton and Boveri
(c) Hugo de Vries (d) GregorJ. Mendel
e &1 PEEE fgid fee far ?
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(b) B € WA (d) IR & A=<

7. The term totipotency refers to the capacity of a:

(a) cell to generate whole plant  (b) bud to generate whole plant

(c) seed to germinate (d) cell to enlargevin size
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8. Which one of the following is not a fungal disease ?
(a) Rust of wheat (b) smut of Bajra

(c) Black rot of crucifers (d) Red rot of sugarcane
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(a) MWI (b) IR BT T
(b) TEWR BT P e (d) T T ¥s e

9. The term recombinant DNA refers to
(a) DNA of the host cell (b) DNA with more than one recognit;
(c) DNA with selectable marker (d) DNA with a piece of foreign DNA |

geate DNA &7 arcqd 8 —
(a) wU SIRET FT DNA (b) T& ¥ 1% gg= e gt DNA

(b) w1 g e aren DNA - () DNA ot fawiiig DNA &1 5oy

10. The term ‘chemical knife’ refers to
(a) polymerases (b) cellulases

(c) ribonucleases (d) endonucleases
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Group- B/@s—+9
(very short answer type questions)
(arfa &g ST 9eA)
11. What are the two key concept of Darwin theory of Evolution?
sifda @ a1 I Fhed] o g ?
12.Define:- (a) climax community
(b) Food chain
gRAIIYT & — (@) TRA F9a™
(b) e s
13. Define biofortification with example.
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14. Match the column —| with column-Il and select the correct option

from the codes given below

Column-| Column -l
(A) Funicle (i) One or two protective layer of |
(B) Integument (ii) Region where body of ovule fus
(C) Hilum (iii) Stalk of ovule.

(a) (A)-(iii),(B)-(i),(C)-(ii)
(b) (A)-(i), (B)- (iii), (C)- (i)
(c) (A)- (i), (B)-(i), (C)-(iii)
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(A) HIpd (i) 9I7is @ TS T &7 HREADH R |
(B) 3R (i) 97 9r1 <& diois ved 9 e
(C) =z (iii) e @1 S

(@)  (A)(iii),(B)-(i),(C)-{ii)
(®)  (A)-(i), (B)- (iii), (C)- (ii)

() (A)-(ii), (B)-(i), (C)-(iii)

15. Differentiate between Plasmid DNA and Chromosomal DNA ?

wfirs DNA & Torgad DNA # 9 gai |

16.Define:- (a) Transgenic Animals
(b) Plant breeding

(c) Somatic hybridization

gRAIYT &Y — (a) G=alar oI

(b) urey go=A

(c) AMTTAN HHT
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GROUP-D /&= — ©
(Long answer type questions)
(e SaR™ ge)
17. Describe Air Pollution and its Control.
. 91 UgYYT U8 g9e ST @ R @ |
OR/ 3ar

Describe loss of biodiversity and its causes.

g fafeerar &1 4t Td SHS HROT BT ARAT B |
18.Discuss Mendel’s law of Independent Assortment with suitable examp
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Describe Megasporogenesis

1@

05

05




